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BI (212 SAHA) (D1EH/DIE

02 18
T 0 0
o F 0t

|

Ol &F At

2 & M

A -3 -H2A(SH) - HEAMY - BES AF oK plpsgel: &2
S A 1,333,417 1,117,484 215,933
= 212,400 0 212,400
== 131,000 131,000 0
2 990,017 986,484 3,533
H2HAY (S AA)(JIEHIIE) 76,736 82,970 AB,234
|23 72,536 78,770 AB,234
Jl2& 72,536 78,770 NB,234
201 ety 28,329 31,476 A3, 147
01 AtR22/Hl 26,709 29,676 A2,967
OAtSR 22 olaE2E -2,967,0002 N2,967 0 A2,967
02 32294l 1,620 1,800 A180
O3S 29| olarEde A180 0 A180
202 04 H 44,207 47,294 A3,087
01 2o 44,207 47,294 A3,087
OZUoiHl olatE2 -3,087,0002 A3,087 0 A3,087
ANHZR (U ZZHH/UBHEY ) 64,528 55,058 9,470
= 15,600 0 15,600
= 48,928 55,058 AB,130
=S50 2l 9,981 11,062 A1,081
S50 2| 9,981 11,062 A1,081
201 ety 4,097 4,552 A455
01 AFR22/Hl 4,097 4,552 N455
OAISR 22 olatE2E A455 0 N455
202 04 H 5,184 5,760 N576
01 2o 5,184 5,760 N576
OZU0oHl o2 NA576 0 A576
301 LR A 225 250 A25
12 JIEt2 A3 225 250 A25
OJIEI2 a2 HaEue N25 0 A25
405 XHoHE SH 475 500 A25
01 XL SEHSH 475 500 A25
ONALSEFSH ojatE2E N25 0 A25
DI 22 54,547 43,99 10,551
= 15,600 0 15,600
= 38,947 43,996 A5,049
2012 22 38,947 43,996 A5,049
201 ety 24,459 27,176 A2,717
01 AFR22/Hl 18,609 20,676 A2,067
OAtSR 22 olatE2E -2,067,0002 N2,067 0 A2,067




SN RIS AA

HE: QIRAIMER (YBBTYT/LBE)

Sl YBrolR B (25l &2
‘:‘}\ X XH . E|-70, ) o K C‘}\ g . IHAEZ /‘l}OH J X OH H DLEDC]F
AN - X (21 H) - NS A a5 Off &F K | (M=

02 =234l 5,850 6,500 A 650
OZT2gHl HaRLE ~650,0002 A650 0 2650
202 04t 6,048 6,720 A672
MIENETI 6,048 6,720 ~672
O oIl oAz ~672,0002! A672 0 ~672
206 2| 1,900 2,000 A100
01 HEb| 1,900 2,000 A100
OMZHI o= ~100,0002 A100 0 A100
301 LB A 540 600 A60
10 BAHAHI 2 A S 540 600 A60
OBAAHIZAS HORAE ~60,0002! A60 0 A60
303 Ea3 3,000 4,500 A1,500
01 maZ 3,000 4,500 21,500
OZN3 HaRA= ~1,500, 0002 A1,500 0 A1,500
CEIER= 15,600 0 15,600
= 15,600 0 15,600
101 121l 7,120 0 7,120
2 7,120 0 7,120
04 JIAHIRNE L+ 7,120 0 7,120
OCZAYLS EZQ ALY (L)
33,0002 %12 1602 5,280 0 5,280
= 5,280 0 5,280
428 (SYT) 520,0002! 520 0 520
= 520 0 520
OFX L BALY(HH) 33,0008 52«82 1,320 0 1,320
2 1,320 0 1,320
201 LByl 4,160 0 4,160
= 4,160 0 4,160
01 AR eIt 4,160 0 4,160
OCIALS HULDE U ANREE 7Y (4
&) 2,648,0002! 2,648 0 2,648
= 2,648 0 2,648
OGRS OFA22X S (LYH)
7,0009! *42 63| x02 1,512 0 1,512
= 1,512 0 1,512
202 04t 4,320 0 4,320
= 4,320 0 4,320
01 =2Uioibl 4,320 0 4,320
OCAYLS YL OfHI (S W)
20,0002 42 +63| +0 2 4,320 0 4,320
2 4,320 0 4,320
ENASBL(RELT ML /NHLEAI) 296,833 319,256 £22,418




SN RIS AA
HH: EXNASA(RELXNANL/XALTA)
Sl AF(F)piR e
SH-EH . C(BH) - NRAY - BES O AF o8 Bk
A= (Fe)pa e 29,295 32,550
A= (Fe)pAne 29,295 32,550
201 Yer2 gyl 23,895 26,550
01 A2l 23,895 26,550
OArRZ2IY HaEZE ~2,655,0002! A2,655 0
202 Oft| 5,400 6,000
01 2UH0iHI 5,400 6,000
OZU oIl ooz ~600,0002! A600 0
NHF s 22l 57,925 61,750
Xz 4,275 4,750
201 LByl 2,115 2,350
01 Attt 540 600
OArR BRI HAEZE ~60,000% £60 0
2 22| 1,575 1,750
OBzl HaEZE ~175,0002 A1T75 0
202 Oft| 2,160 2,400
01 2Uioibl 2,160 2,400
OZU oIl olarE2s ~240,0002! A240 0
NEEE: 21,910 23,400
201 LByl 3,600 4,000
01 At 3,600 4,000
OArR Y HlaELE ~400,000% A400 0
202 048] 2,160 2,400
01 =2Uloibl 2,160 2,400
O ot ez ~240,0002 A240 0
207 HRIHL Y 16, 150 17,000
01 1| 4,750 5,000
OTEAY HaETE ~250,0002! A250 0
02 & &Ryl 1,400 12,000
OFAMNSY HAELE ~600,0002 A600 0
BRHEN HAEAL 31,740 33,600
201 YBr2 Y| 3,240 3,600
01 A2l 3,240 3,600
OArRZRIY HaEZE ~360,0002 A360 0
207 HPIHLEI 28,500 30,000
02 &Iyl 28,500 30,000
OFAMNSY KlAELE ~1,500,0002! A1,500 0




D oI AL
P EXASRR(ZELNGNL/X

-EXA

(u]

A

)

CHE L HR(BA) - MBAY - BES Aboy o1& o
EXYE 46,345 51,952
224 27,366 31,976
2Bt ZH| 14,490 16,100
A 22| H| 12,240 13,600
OAtR 22l oaE2=2 -1,360,000& 21,360 0
3322l 2,250 2,500
OZ32gHl dazgz -250,000& A250 0
el =] 2,000 5,000
HREAH| 2,000 5,000
OS2l HaEZE -3,000,000& A3,000 0
F3EY 2H 18,979 19,976
2Bt ZH| 18,979 19,976
S32ZH| 18,979 19,976
OZ332ZHl HaEZ2 -997,000& N997 0
110,547 115,628
L HEHSEE 110,547 115,628
BRI 32,040 35,600
01 AFR 22| 17,820 19,800
OAtR2teldl olaE2d= -1,980,000& A 1,980 0
=323l 14,220 15,800
OZ32ZHl daz2szE -1,580,000& 21,580 0
(1] 4,536 5,040
2001 4,536 5,040
OZUHHHl HaEZ2 -504,000& A504 0
BB A Z 9,151 10, 168
HALAHIE &= 9,151 10, 168
OdAAHIEaZ HaEZ=2 -1,017,000& A1,017 0
52,726 57,376
Al 52,726 57,376
22 A 40,950 45,500
ArE 22|l 34,200 38,000
OAtR2teldl olatE 2 -3,800,000& 3,800 0
33224l 6,750 7,500
OZ332ZHl HaEZ2 -750,000& AT50 0
(Ghs] 900 1,000
=LY 900 1,000
O=LoHl a2 -100,000& A 100 0




SN QIRAZALA
HH: EHSANH (AEI =R /FE)

SR SEFHESAMNA (&te: @
2N -3 - c2(3H) - NEME - HES Ol AFoH pjEsifon Hl =2
FHEHMNNH (MBI =X /=) 854,000 615,000 239,000

= 196,800 0 196,800

[ 131,000 131,000 0

= 526,200 484,000 42,200

EF)EHMA 854,000 615,000 239,000
= 196,800 0 196,800

[= 131,000 131,000 0

= 526,200 484,000 42,200

=0l SR INSE(XHA) 298,000 305,000 A7,000
402 QIEXH=0|A 298,000 305,000 A7,000
01 I2tR=E=X 298,000 305,000 A7,000
ORIZINES X ofaE2de —7,000,000 27,000 0 A7,000

A FAHS FEIHE(EX) 246,000 0 246,000
= 196,800 0 196,800

= 49,200 0 49,200

403 RXESHSKH201H 246,000 0 246,000
= 196,800 0 196,800

= 49,200 0 49,200

02 ZI|ZSOICHSHHEE AL I 246,000 0 246,000
ABIFHSEHS = W22 6,000,0002*41S 246,000 0 246,000

= 196,800 0 196,800

= 49,200 0 49,200

QA=A (EH /A Z O OkOLA) 41,315 45,200 A3,885
SMAA KESHE L A WA 41,315 45,200 A3,885
QMAA T Y BHAHAMNM 32,715 35,600 A2,885
206 24| 2,950 4,750 A 1,800
01 24l 2,950 4,750 A 1,800
OMEHI olatE2= -1,800,000 A 1,800 0 A 1,800

301 LB A2 9,765 10,850 A1,085
10 SHALAHI 2 A2 4,500 5,000 A500
OSAAHIEAS OlatELE -500, 000 A500 0 A500

12 JIEtB A2 5,265 5,850 A585
OJIEt2 A2 oaEAE -585,000 585 0 A585
MAD =X 2HH| 8,600 9,600 A 1,000
201 L2 HH| 4,240 4,800 AB560
01 AFR2t2lH] 4,240 4,800 A560
OAISZ2/Hl HatE2= -560,000 2560 0 A560

202 OfH] 3,600 4,000 A400
01 2oy 3,600 4,000 A 400
O2U0Hl a=2E -400, 000 2400 0 2400

405 KHAHE S 760 800 A40
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